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[English Version]

[NB. Numbers on the right margin indicate full marks for the questions.]
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Part A—Algebra  Marks

Simplify :
1 1 4
@ x—2 x+2 2+4

Do a1
(b) (l+x)‘5‘(l 12).
(@ I x+y=5, xy=6andx>y, find the value of 2 (2 + 7))
12
® Ifx”;i‘%,'pmvwmt, x2+(*3 =18

10 years ago the ratio of ages of father and son was 4 : 1. After
10 years the ratio of ages of father and son will be 2 : 1. Find the
present age of father and son individually.

¥£7 is added with a numerator of a fraction, the value of the fraction
‘will be 2 and if 2 is subtracted from the denominator, the fraction
“will be 1. Find the fraction. /
‘The length of a rectangular reservoir is 5-5 metres, the breadth is
4 metres and the height is 2 metres. If the reservoir is full of water,
‘what is the volume of water in litres and its weight in kg?

10
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{English Version]
[N.B. The figures in the right margin indicate full marks.}

1. Differentiate between :
{a) Book Keeping andAsccounting.
{5} Trail Balance and Balance Sheet.
(c) Cash Basis Accounting and Accrual Basis Accounting.
(d) Single Entry System and Double Eniry System.

{2} Diebi Note and Credit Note,
Write shorinoteon :

)

{a} Accounting Cycle.
{5} Capital Expenditure.
{cy Depreciation.

{d) Journal Proper.

{e) Bills Payable.

bbb

(@) “Cash book serves both purpose of Journal and Ledger for cash transactions” —Explain the

statement.
(b) Prepare a Double Colum Cash Book of Mr. Lee from the following transactions :

Date Transactions
1 June 2021 Cash balance Tk. 1,40,000 and bank over draft Tk. 1,00,000.

3

4
6

8
11
14
18
25
27
29
30

For sale of goods a bill receivable received of Tk. 50,000 and deposited to bank
for collection.

Withdrawn Tk. 25,000 from bank for payment of life insurance premium.
House rent paid by cheque Tk. 50,000 and salaries paid by cash Tk. 80,000.
Informing us Rifat directly deposited Tk. 70,000 to our bank settling his dues.
Bills receivable received on 03-06-2021 for selling of goods is dishonored.
Withdrawn from bank Tk. 80,000 for official use.

A cheque of Tk. 20,000 is received as commission.

Depreciation was charged on plant & machinery Tk. 20,000.

Received cheque for commission is deposited to the bank.

Bank commission charged Tk. 80 and bank granted interest Tk. 100.

By keeping in hand Tk. 50,000 remaining amount deposited to bank.

4. (a) “Bank reconciliation statement is not an account™Explain.
{b) Prepare a bank reconciliation statement from the following information :

)

i W g,

3 ik i, [
LI "
T g

b i,
o
g

According to pass book on 30-06-2021 bank balance is Tk. 1,12,800.

Three bills receivable amounting to Tk. 15,000, Tk. 17,000 and Tk. 11,000
respectively were deposited to bank for collection. But first and second bills were not
collected by the bank till June 30, 2021,

A bill receivable of Tk 1,500 was deposited to bank for collection which was
dishonored but no entry was given in the cash book.

A bill of Tk. 11,000 was payable by issued for payment but bank refused to pay the same.

School fee of Pias, son of the owner amounting to Tk. 11,200 was paid by the bank-

directly but not recorded in cash book.

Three cheques were issued to Kona, Luna and Bina amounting to Tk. 12,200
Tk. 13,000 and Tk. 11,800 respectively. But the cheque issued to Luna was not
presented fo bank for cash till 30-06-21.

2x5=10

=)

Bank received a bill of Tk. 11,000 in full settlement of Tk. 11266, But the whole 7

amount of the bill was entered in the cash book.

Bank receivable Tk. 1,200 for interest on investment. But it was not recorded in cash
book.

Bank directly collected Tk. 1,200 from a debtor. We came to the information afier June
30,2021,

Bank allowed interest amounting Tk. 150 and bank charge was Tk. 100. -

Life insurance premium for the owner amounting to Tk. 1,200 was paid by the bank
but it was not recorded in cash book.

Tk. 11,000 deposited to bank. But wrongly it was recorded in credit side of cash book.
A bill of Tk, 11800 was discounted by the bank at Tk. 10,000 later on which was
dishonored. But norecord was made in thic reaned In the sach hani




5. The following Trail Balance is prepared %§§ the balance of M/S Ujial Traders as on 3ist

December 2020
Particulars Debit Particulars b Credit
(Taka) . (Taka)
Opening stock (01-01-2020) 2,25,000  Capital - 3,72,000
Rent & insurance 30,000 10% Loan (01-10-2 é’*i{% - 11,50.000
Cash in hand 25,000 Sales - 9,50,000
Purchase , 5,25,000  Sundry creditors - 2,90,000
Salaries 1.20.0600  BReturns outward 60,000
Advertisement 20,000 Bad debt reserve U008
Returns inward 50,000 Bills payable - 1.30,000
Machinery 1,080,000 - Commission received / 10,000
Carriage outward 5,000 Discount received £.000
Wages 2,00,000 Discount on purchases 16,000
Carriage inward 3,000 Intereston investment 2,560
Printing & stationery 10,000 Outstanding salaries 20,000
Discount allowed 5.000
Bank balance 50,000
Sundry debtors 2,60,000
Drawings 60,000
Prepaid rent & insurance 10,000
8% investment (01-07-2020) 1,50,000
Customs 10,000
Furniture 1,00,000
Motor vehicles 50,000
Postage & telegram 2,500
1992500 19,92,500

Other information :

(1) Cost price of closing stock on 31-12-2020 is Tk. 2,00,000 but market price of the same
is Tk. 1,80,000. :

(2) Wages includes Tk. 20,000 for installation of machinery.
(3) Sales without profit is Tk. 20,000 which was not recorded in the book.
(4)  Wages remains outstanding Tk. 20,000. :

(5) Withdrawn goods of Tk. 10,000 for personal use of the woner not accounted for il
31-12-2020.

(6) Tk. 15,000 was stolen from Chest.

(7)  Tk. 10,000 is not recoverable from sundry debtors. Reserve for bad'debt is iz} be made
@ 5% from the rest amount.
{2} gﬁ‘??%‘ié%i%ﬁ is to be charged 10% on furniture and 20% on motor vehicles.

Reguire fo prepare:;
(@) Trading account of M/S Ujjal Traders for the year ended 31st December 2828
(b) Profit & loss account of M/S Ujjal Traders for the year ended 31st December 2020.
{¢) Balance sheet of M/S Ujjal Traders as on 31st December 2020.
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